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1,217 13,938 3,177 105,811 22,845 179,484 48,012 6,638 4918 3,788 80,169 309,659
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108 RETGRIRIE)
a5 ) XA E (A) B () WEANE (A)
R3 R2 J24:3 R3 R2 J5d 1 R3 R2 Jad 1 R3 R2 Jad 1
&5t 1,830 1,751 79 1,681 1,596 85 17,306 17,223 83 15,958 15,976 -18
2A 1,258 1,172 86 1,161 1,067 94 12,262 12,134 128 11,342 11,295 47
REEEH 127 132 -5 121 126 -5 1,066 1,121 -55 997 1,077 -80
—fRas 248 245 3 238 228 10 2,112 2,205 -93 1,989 2,072 -83
Z0ith 197 202 -5 161 175 -14 1,866 1,763 103 1,630 1,532 98
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A 108 RETGRIRTE)
BN 5K (1) BEIANE (N) SN 5R (1) BEIAE (N)
w3 R3 R2 = R3 R2 e R3 R2 Ja 3 R3 R2 e
&&t 10 19 -9 4 14 -10 91 110 -19 55 73 -18
NKEY 0 0 1 5 -4 3 12 -9
REBEH 4 5 -1 2 5 -3 46 42 4 27 27 0
KEEI 2 2 0 1 2 -1 8 9 -1 6 8 -2
HICk DB 1 -1 1 -1 7 -7 3 -3
BYMEICKDEEW 2 1 1 1 1 0 6 9 -3 3 5 -2
HARUVERER 2 -2 0 0 2 7 -5 0 2 -2
Z D4t 2 8 -6 0 5 -5 28 31 -3 16 16 0
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